

# NONNEGATIVE SOLUTIONS OF ELLIPTIC PROBLEMS WITH SUBLINEAR INDEFINITE NONLINEARITY

FRANCISCO ODAIR DE PAIVA

ABSTRACT. We are concerned with existence, nonexistence and multiplicity of nonnegative solutions for the elliptic problem

$$\begin{aligned} -\Delta u &= a(x)u^q + \lambda b(x)u^p & \text{in } \Omega \\ u &= 0 & \text{on } \partial\Omega, \end{aligned}$$

where  $\Omega$  is a bounded domain in  $\mathbb{R}^N$ ,  $\lambda \in \mathbb{R}$ ,  $0 < q < 1 < p \leq 2^* - 1$  and  $a, b$  are bounded functions, with  $b(x) \geq 0$  and  $a(x)$  changes its sign.

## 1. INTRODUCTION

There has recently been increasing interest in questions about positive solutions of semilinear elliptic problem of the type:

$$-\Delta u = f(x, u, \lambda),$$

$x \in \Omega \subset \mathbb{R}^N$  and  $\lambda \in \mathbb{R}$ . One interesting situation appears when  $f$  is sublinear at the origin in some open subset  $\Omega' \subset \Omega$ , i.e., if the following condition,

$$\lim_{u \rightarrow 0^+} \frac{f(x, u, \lambda)}{u} = \infty,$$

holds uniformly for  $x \in \Omega'$  and  $\lambda \in \mathbb{R}$ . One direction of research is looking for an interval  $\Lambda \subset \mathbb{R}$ , such that  $-\Delta u = f(x, u, \lambda)$  has two solutions for  $\lambda \in \Lambda$ .

In this paper we deal with the following class of parameterized elliptic problems

$$(Q_\lambda) \quad \begin{cases} -\Delta u = a(x)u^q + \lambda b(x)u^p & \text{in } \Omega \\ u \geq 0 & \text{in } \Omega, \\ u = 0 & \text{on } \partial\Omega, \end{cases}$$

---

2000 *Mathematics Subject Classification.* 35J65 (35J20).

*Key words and phrases.* positive solution, indefinite sublinear nonlinearity, concave-convex nonlinearity, critical exponent.

This work was supported by CNPq and FAPESP.

where  $\Omega$  is a bounded domain in  $\mathbb{R}^N$ ,  $\lambda \in \mathbb{R}$ ,  $0 < q < 1 < p \leq 2^* - 1$  and  $a, b$  are bounded functions. Here we will assume that  $a(x)$  changes its sign in  $\Omega$ , so the Maximum Principle is not applicable, thus the solutions can vanish on parts of  $\Omega$  (see for instance [11]). By solutions we mean weak solutions in  $H_0^1(\Omega)$ , i.e. the critical points of the associated  $C^1$  functional  $F_\lambda : H_0^1(\Omega) \rightarrow \mathbb{R}$ , given by

$$(1) \quad F_\lambda(u) = \frac{1}{2} \int_\Omega |\nabla u|^2 - \frac{1}{q+1} \int_\Omega a(x)(u^+)^{q+1} - \frac{\lambda}{p+1} \int_\Omega b(x)(u^+)^{p+1}.$$

Our general assumptions concerning the functions  $a(x)$  and  $b(x)$  are that  $a, b \in L^\infty(\Omega)$  and the sets

$$\begin{aligned} \Omega_a &= \{x \in \Omega : a(x) \geq 0\}, & \Omega_a^+ &= \{x \in \Omega : a(x) > 0\}, \\ \Omega_a^- &= \{x \in \Omega : a(x) < 0\} & \text{and } \Omega_b^+ &= \{x \in \Omega : b(x) > 0\}, \end{aligned}$$

are nonempty. Moreover, we will make the following assumptions:

- (a)  $\Omega_a^+$  is open,  $|\Omega_a^-| > 0$  and  $\overline{\Omega_a^+} \cap \overline{\Omega_a^-} = \emptyset$ ;
- (b)  $\text{int}(\Omega_b^+) \neq \emptyset$  and  $b \geq 0$ ;
- (c)  $\Omega_a^+ \subset \Omega_b^+$  and  $\overline{\Omega_a^+} \subset \Omega$ ;
- (d)  $\text{int}(\Omega_a) = \cup_1^k U_i$ ,  $U_i$  connected, and  $U_i \cap \Omega_a^+ \neq \emptyset$ ;

As a consequence of assumption (d), by the Maximum Principle, if  $u$  is a solution of  $(Q_\lambda)$  such that  $u$  is nontrivial in the components of  $\Omega_a$ , then  $u > 0$  in  $\text{int}(\Omega_a) \supset \Omega_a^+$ . This motivates the following definition:

**Definition 1.** *We say that  $u \in H_0^1(\Omega)$  is a solution to  $(P_\lambda)$  if  $u$  solves  $(Q_\lambda)$  in the weak sense and  $u(x) > 0$  a.e.  $x \in \Omega_a^+$ .*

The aim of this paper is to obtain, assuming the above hypotheses, a global result in the following sense: if

$$\lambda^* = \sup\{\lambda > 0; (P_\lambda) \text{ has a solution}\},$$

then for all  $0 < \lambda < \lambda^*$ ,  $(P_\lambda)$  has at least two nontrivial solutions (in the critical case we have an additional hypothesis). This kind of result was proved in [2] for the case  $a \equiv b \equiv 1$ . When  $a \geq 0$  and  $b$  is indefinite, the same result was obtained in [9].

Before presenting our results, we notice that elliptic problems with indefinite nonlinearities have been widely studied recently. For instance, problems where the nonlinearity are composed by a linear part and an indefinite superlinear were considered in [3, 4, 5, 20]. For concave-convex nonlinearities, in addition to [9], we can cite [10], for  $p$ -Laplacian problems, and [1] for a semilinear equation with Neumann boundary condition (see also [12, 13, 19]). Moreover, we refer to [8, 16, 17, 18] for local results, i.e., when  $\lambda$  is in a small neighborhood

of the origin. Notice that in [8] both coefficients,  $a$  and  $b$ , could change sign, but the authors have proved only local results.

The main results of this paper are stated in the theorems below. First, we consider existence results:

**Theorem 1.** *Assume (a)-(d) and  $0 < q < 1 < p \leq 2^* - 1$ . Then there is  $\lambda^* \in (0, \infty)$  such that problem  $(P_\lambda)$  has at least one solution for  $0 < \lambda < \lambda^*$ , moreover, this solution is a local minimum of  $F_\lambda$ . Furthermore,  $(P_\lambda)$  has no solution for  $\lambda > \lambda^*$ ; and, if  $\Omega$  is smooth then  $(P_{\lambda^*})$  has at least one solution.*

**Remark 1.** Assumption  $\overline{\Omega}_a^+ \cap \overline{\Omega}_a^- = \emptyset$  has been considered by many authors in the study of elliptic problems with indefinite nonlinearities, see for instance [3, 4]. Assumption (d), that appears in [1, 6] in the study of a problem with Neumann boundary condition, will be essential to prove that the solution obtained in Theorem 1 is a local minimum in  $H_0^1(\Omega)$ .

Now we consider multiplicity in the subcritical case. Let  $\lambda^*$  be given in previous theorem.

**Theorem 2.** *Assume (a)-(d) and  $0 < q < 1 < p < 2^* - 1$ . Then problem  $(P_\lambda)$  has at least two solutions for  $0 < \lambda < \lambda^*$ .*

Aiming now to multiplicity in the critical case, we will assume that  $N \geq 3$  and, without loss of generality, that  $0 \in \Omega$ . Moreover, in addition to the above hypotheses, we assume that  $b$  satisfies:

(e) for some  $\delta > 0$ ,  $M > 0$  and some  $\gamma > 2$ , one has

$$0 \leq \|b\|_\infty - b(x) \leq M|x|^\gamma \quad \text{a.e. } x \in B_\delta(0).$$

Let  $\lambda^*$  be given in Theorem 1, we have:

**Theorem 3.** *Assume (a) – (e) and  $0 < q < 1 < p = 2^* - 1$ . Then for all  $0 < \lambda < \lambda^*$  problem  $(P_\lambda)$  has at least two solutions.*

**Remark 2.** Assumption (e) appears in [10], but there  $\gamma$  depends on the dimension in the following way:  $\gamma > 2^*$  when  $N \geq 5$ ,  $\gamma \geq 2^*$  when  $N = 4$  and  $\gamma > 3/5$  when  $N = 3$ .

Throughout this paper, we will use the following notations:  $\|\cdot\|$  to the norm of  $H_0^1(\Omega)$ ,  $\|\cdot\|_p$  to the norm of  $L^p(\Omega)$  and  $C$  to several different positive constants.

## 2. PROOF OF THEOREM 1

**Existence for  $0 < \lambda < \lambda^*$ :**

First, we shall prove that problem  $(P_\lambda)$  has a supersolution for  $\lambda > 0$  small enough.

**Claim 1.** There is  $\epsilon_0 > 0$  such that for  $0 < \lambda \leq \epsilon_0$ , problem  $(P_\lambda)$  has a supersolution.

In fact, let  $e$  be a solution of

$$\begin{aligned} -\Delta u &= 1 & \text{in } \Omega \\ u &= 0 & \text{on } \partial\Omega. \end{aligned}$$

Since  $0 < q < 1 < p$ , we can find  $m > 0$  and  $\epsilon_0 > 0$  such that

$$m \geq \|a\|_\infty \|me\|_\infty^q + \epsilon_0 \|b\|_\infty \|me\|_\infty^p.$$

It follows that  $me$  is a supersolution to  $(P_\lambda)$ , since  $0 < \lambda \leq \epsilon_0$ , q.e.d.

Let  $\lambda$  be such that  $0 < \lambda \leq \epsilon_0$ , where  $\epsilon_0$  is as in Claim 1. Defining  $\bar{u} := me$ , where  $m$  and  $e$  are as in Claim 1, we have that  $\bar{u}$  is a supersolution for  $(Q_\lambda)$ . Moreover,  $\underline{u} = 0$  is a solution, and so a subsolution. Consider the following minimization problem

$$\inf_M F_\lambda, \quad \text{where } M = \{u \in H_0^1 : \underline{u}(x) \leq u(x) \leq \bar{u}(x) \text{ a.e. } x \in \Omega\}.$$

By Theorem I.2.4 from [21], the above infimum is achieved at  $u_\lambda \in M$  and, in addition,  $u_\lambda$  is a solution of  $(Q_\lambda)$ . It remains to show that  $u_\lambda$  solves  $(P_\lambda)$  (see Definition 1). Suppose, by contradiction, that  $u_\lambda \equiv 0$  a.e.  $x \in \Omega_a^+$ . Let  $\varphi \in C_0^1(\Omega_a^+)$  be nonnegative and nontrivial. Therefore  $u_\lambda + s\varphi \in M$ , for sufficiently small  $s > 0$ , and

$$\begin{aligned} F_\lambda(u_\lambda + s\varphi) &= F_\lambda(u_\lambda) + F_\lambda(s\varphi) \\ &= F_\lambda(u_\lambda) + \frac{s^2}{2} \|\varphi\|^2 \\ &\quad - \frac{s^{q+1}}{q+1} \int_\Omega a(x) \varphi^{q+1} dx - \frac{s^{p+1} \lambda}{p+1} \int_\Omega b(x) \varphi^{p+1} dx. \end{aligned}$$

It follows that  $F_\lambda(u_\lambda + s\varphi) < F_\lambda(u_\lambda)$  if  $s > 0$  is small enough. This contradicts the definition of  $u_\lambda$ , and so  $u_\lambda$  is a solution of  $(P_\lambda)$ .

Now, we can define

$$(2) \quad \Lambda := \{\lambda > 0 : (P_\lambda) \text{ has a solution}\}, \quad \text{and } \lambda^* := \sup \Lambda.$$

By the previous paragraph, we have  $\Lambda \neq \emptyset$ , and so  $\lambda^*$  is well defined.

Now, we will prove existence of a solution for  $0 < \lambda < \lambda^*$ . Let  $\lambda$  be such that  $\lambda < \bar{\lambda} < \lambda^*$ , with  $\bar{\lambda} \in \Lambda$ . Let  $\bar{u}$  be a solution of  $(P_{\bar{\lambda}})$ , then

$$-\Delta \bar{u} = a(x)\bar{u}^q + \bar{\lambda}b(x)\bar{u}^p \geq a(x)\bar{u}^q + \lambda b(x)\bar{u}^p,$$

and so  $\bar{u}$  is a supersolution for  $(P_\lambda)$ . Consider  $M = \{u \in H_0^1 : 0 \leq u \leq \bar{u}\}$ . Let  $u_\lambda \in M$  be such that  $F_\lambda(u_\lambda) = \inf_M F_\lambda$ . As before,  $u_\lambda$  is a solution of  $(Q_\lambda)$ . Suppose, by contradiction, that  $u_\lambda$  does not solve  $(P_\lambda)$ , i.e.  $u_\lambda \equiv 0$  a.e.  $x \in \Omega_a^+$ . Let  $\varphi \in C_0^1(\Omega_a^+)$  be nonnegative and nontrivial such that  $\varphi \bar{u} \geq 0$  a.e.  $x \in \Omega_a^+$ . So we get  $u_\lambda + s\varphi \bar{u} \in M$  for  $s > 0$  and sufficiently small. Arguing as in Claim 1, we can conclude that  $F_\lambda(u_\lambda + s\varphi \bar{u}) < F_\lambda(u_\lambda)$  if  $s > 0$  is small enough, which contradicts the definition of  $u_\lambda$ . Thus  $u_\lambda$  is a solution of  $(P_\lambda)$ . The proof that  $u_\lambda$  is a local minimum of  $F_\lambda$  is deferred to an appendix. q.e.d.

**Proof of  $\lambda^* < \infty$ :**

First, note that

$$a(x)t^q + b(x)t^p \geq \lambda^{\frac{1-q}{p-q}} m(x)t, \quad \text{a.e. } x \in \Omega_a \quad \text{and for all } t \geq 0,$$

where  $m(x) = C(p, q)a(x)^{\frac{p-1}{p-q}}b(x)^{\frac{1-q}{p-q}}$  (see [8, Lemma 3.6]).

Let  $u$  be a solution of  $(P_\lambda)$ . Let  $B$  be a ball in  $\Omega_a^+$ . Let  $\mu_1$  be the first eigenvalue of  $(-\Delta, H_0^1(B))$ , with the weight  $m(x)$ , and  $\phi_1$  the associated eigenfunction, i.e.  $-\Delta \phi_1 = \mu_1 m(x)\phi_1$  in  $B$ . We have

$$\int_B \nabla u \nabla \phi_1 dx = \mu_1 \int_B m(x)u\phi_1 dx.$$

On the other hand

$$\int_B \nabla u \nabla \phi_1 dx = \int_B (a(x)u^q + b(x)u^p)\phi_1 dx.$$

It follows that

$$\lambda^{\frac{1-q}{p-q}} \int_B m(x)u\phi_1 dx \leq \mu_1 \int_B m(x)u\phi_1 dx,$$

which implies that  $\lambda^{\frac{1-q}{p-q}} \leq \mu_1$ . Thus  $\lambda^*$  is finite and, by the definition of  $\lambda^*$ , it follows that  $(P_\lambda)$  has no solution for  $\lambda > \lambda^*$ . q.e.d.

**Existence for  $\lambda = \lambda^*$ :**

We begin by recalling that, under the assumption  $0 < q < p \leq 2^* - 1$ , the solutions of  $(P_\lambda)$  are in  $C_0^1(\bar{\Omega})$  (see [21, p. 245]).

By the definition of  $\lambda^*$ , there is a sequence  $\lambda_k \in \Lambda$  such that  $\lambda_k \nearrow \lambda^*$  and  $(P_{\lambda_k})$  has a solution. Let  $u_k$  be a solution of  $(P_{\lambda_k})$ . First, let us

show that  $\|u_k\|$  is bounded. Actually, since  $F'(u_k) = 0$  and  $F(u_k) \leq 0$  with  $F(u_k) \leq 0$  (see the first part of the proof), we have

$$pF(u_k) - F'(u_k) \cdot u_k \leq C\|u_k\|,$$

that means

$$\left(\frac{p}{2} - 1\right) \|u_k\|^2 \leq C\|u_k\|^{q+1} + C.$$

It follows that  $\|u_k\|$  is bounded, since  $q < 1$ .

Thus we can assume that  $u_k \rightharpoonup u_*$  in  $H_0^1$ . Hence  $u$  solves  $(Q_{\lambda^*})$  and  $F(u) \leq 0$ . Moreover, by standard bootstrap, we can assert that  $u_k \rightarrow u_*$  in  $C_0^1(\Omega)$ .

We have to prove that  $u_*$  is a solution of  $(P_{\lambda^*})$ . For this purpose, assume, by contradiction, that  $u_* = 0$  in  $\Omega_a^+$ . Let  $\varphi_1 > 0$  be the associated eigenfunction to the eigenvalue  $\lambda_1(B_1)$ , where  $B_1$  is an open ball in  $\Omega_a^+$ . We have

$$\begin{aligned} \lambda_1(B_1) \int_{B_1} u_k \varphi_1 dx &= \int_{B_1} \nabla u_k \nabla \varphi_1 dx \\ &= \int_{B_1} (a(x)u_k^q + \lambda^* b(x)u_k^p) \varphi_1 dx. \end{aligned}$$

Then

$$\int_{\Omega} c_1 u_k^q \varphi_1 dx \leq \int_{B_1} (\lambda_1(B_1)u_k - \lambda^* b(x)u_k^p) \varphi_1 dx.$$

It is a contradiction, if  $k$  is large enough, provided

$$c_1 u_k(x)^q \geq \lambda_1(B_1)u_k - \lambda^* b(x)u_k^p$$

for a.e.  $x \in B_1$ , since  $u_k \rightarrow u_*$  in  $C_0^1(\Omega)$ . This concludes the proof of Theorem 1.  $\square$

### 3. PROOF OF THEOREM 2

It follows, by Theorem 1, that for each  $\lambda \in (0, \lambda^*)$  the functional  $(F_\lambda)$  has a local minimum  $u_\lambda$ , that satisfies  $F_\lambda(u_\lambda) \leq 0$ . We will look for a second solution of the form

$$v = u_\lambda + u, \quad \text{with } u \geq 0.$$

It is equivalent to find a critical point of the following functional, defined in  $H_0^1(\Omega)$ ,

$$\begin{aligned} I_\lambda(u) &= \frac{1}{2} \int |\nabla u|^2 \\ &\quad - \frac{1}{q+1} \int a(x) [(u^+ + u_\lambda)^{q+1} - (u_\lambda)^{q+1} - (q+1)u_\lambda^q u^+] \\ &\quad - \frac{\lambda}{p+1} \int b(x) [(u^+ + u_\lambda)^{p+1} - (u_\lambda)^{p+1} - (p+1)u_\lambda^p u^+]. \end{aligned}$$

Indeed, if  $u$  is a critical point of  $I_\lambda$ , then  $u + u_\lambda$  is a critical point of  $F_\lambda$ . Moreover, using  $-u^-$  as a test function, we can conclude that  $u \geq 0$ . Thus, we have to prove that  $I_\lambda$  has a nontrivial critical point. To this end, we will show that  $I_\lambda$  satisfies the assumptions of the relaxed mountain pass theorem, see [14, Corollary 5.11].

First, observe that  $I_\lambda(0) = F_\lambda(u_\lambda)$ . Thus we have to show that:

- (i) there is  $r > 0$  such that  $I_\lambda(u) \geq F_\lambda(u_\lambda)$  for all  $u \in H_0^1$  with  $\|u\| = r$ ;
- (ii) there is  $w_1 \in H_0^1$  such that  $I(w_1) \leq F_\lambda(u_\lambda)$  and  $\|w_1\| > r$ ; and
- (iii)  $I_\lambda$  satisfies the *(PS)* condition.

The item (i) is a consequence of  $u_\lambda$  being a local minimum of  $F_\lambda$ . In order to prove item (ii), let  $v_1 \in C_0^1(\Omega_b^+)$  be nonnegative, nontrivial and such that  $\int_\Omega b(x)v_1^{p+1} > 0$ . We have, for large  $s$ ,

$$\begin{aligned} I_\lambda(sv_1) &= \frac{s^2}{2} \int_\Omega |\nabla v_1|^2 \\ &\quad - \frac{s^{q+1}}{q+1} \int_\Omega a(x) \left[ \left( v_1 + \frac{u_\lambda}{s} \right)^{q+1} - \left( \frac{u_\lambda}{s} \right)^{q+1} - \frac{(q+1)u_\lambda^q v_1}{s^q} \right] \\ &\quad - \frac{\lambda s^{q+1}}{p+1} \int_\Omega b(x) \left[ \left( v_1 + \frac{u_\lambda}{s} \right)^{p+1} - \left( \frac{u_\lambda}{s} \right)^{p+1} + \frac{(p+1)u_\lambda^p v_1}{s^p} \right] \\ &= O(s^{q+1}) - \frac{\lambda s^{q+1}}{p+1} \int_\Omega b(x) \left( v_1 + \frac{u_\lambda}{s} \right)^{p+1} \\ &\rightarrow -\infty \text{ as } s \rightarrow \infty, \end{aligned}$$

and so (ii) follows.

For (iii), notice that  $F_\lambda$  satisfies *(PS)*, see for instance [8]. Now, let  $u_n$  be a *(PS)* sequence of  $I_\lambda$  at level  $c$ , it follows that  $u_1 + u_n$  is a *(PS)* sequence for  $F_\lambda$ , and so has a convergent subsequence. Thus,  $I_\lambda$  satisfies the *(PS)* condition. This concludes the proof of Theorem 2.  $\square$

## 4. PROOF OF THEOREM 3

As in the previous section, we have to prove that the functional  $I_\lambda$  has a nontrivial critical point. Again,  $I_\lambda$  has a local minimum at the origin and we can find  $e \in H_0^1$ , with  $\|e\|$  large enough, such that  $I_\lambda(e) \leq 0$ . We are assuming that  $p = 2^* - 1$ , then  $I_\lambda$  fails to satisfy the  $(PS)$  condition. In order to avoid this difficulty we follow the ideas in [7].

We argue by contradiction, i.e., suppose that 0 is the unique critical point of  $I_\lambda$ . Consider the mountain pass level

$$c_\lambda := \inf_{\gamma \in \Gamma} \max_{t \in [0,1]} I_\lambda(\gamma(t)),$$

where  $\Gamma = \{\gamma \in C([0,1], H_0^1) : \gamma(0) = 0, \gamma(1) \leq 0\}$ . The next two lemmas will be proved below.

**Lemma 1.** *The following is true:*

$$c_\lambda < \frac{S^{\frac{N}{2}}}{N \|b\|_\infty^{\frac{N-2}{2}}}.$$

**Lemma 2.**  $I_\lambda$  satisfies the  $(PS)_c$  condition for all  $c < \frac{S^{\frac{N}{2}}}{N \|b\|_\infty^{\frac{N-2}{2}}}$ .

Now, by the mountain pass theorem, there is  $w_n \in H_0^1(\Omega)$  a sequence such that

$$(3) \quad I'_\lambda(w_n) \rightarrow 0 \quad \text{and} \quad I_\lambda(w_n) \rightarrow c_\lambda,$$

where  $0 \leq c_\lambda < \frac{S^{\frac{N}{2}}}{N \|b\|_\infty^{\frac{N-2}{2}}}$ , by Lemma 1. Lemma 2 implies that  $w_n \rightarrow w_0$  in  $H_0^1(\Omega)$ . Thus  $w_0$  is a critical point of  $I_\lambda$ , and so, by our assumption,  $w_0 = 0$ . We have that, by (3),

$$(4) \quad \frac{1}{p+1} I'_\lambda(w_n) \cdot (u_\lambda + w_n) - I_\lambda(w_n) = \frac{1}{N} \|w_n\|^2 + o(1) \rightarrow c_\lambda.$$

If  $c_\lambda = 0$ , using the version of mountain pass theorem by Ghoussoub & Preiss [15, Theorem 1], we can take  $w_n$  satisfying  $\|w_n\| \rightarrow r$ ,  $r > 0$ , what is a contradiction with (4). Thus we should have  $c_\lambda > 0$ . Since  $I'(w_n) \cdot w_n \rightarrow 0$ , we conclude that

$$\lim_{n \rightarrow \infty} \|w_n\|^2 = \lim_{n \rightarrow \infty} \int b(x) (w_n^+)^{2^*} = N c_\lambda.$$

By definition of  $S$ , we have

$$\|w_n\|^2 \geq S \left( \int |w_n|^{2^*} \right)^{\frac{2}{2^*}} \geq \frac{S}{\|b\|_\infty^{\frac{2}{2^*}}} \left( \int b(x) |w_n^+|^{2^*} \right)^{\frac{2}{2^*}}.$$



Passing to the limit in the above inequality, we get

$$c_\lambda N \geq \frac{S}{\|b\|_\infty^{\frac{2}{2^*}}} (c_\lambda N)^{\frac{2}{2^*}}.$$

It follows that  $c_\lambda \geq \frac{S^{\frac{N}{2}}}{N\|b\|_\infty^{\frac{N-2}{2}}}$ , provided  $c > 0$ . This contradicts Lemma 2. Thus Theorem 3 is proved.  $\square$

*Proof of Lemma 1:* As usual, we will follow the approach from [7]. Define

$$v_\epsilon(x) = \frac{C_N \epsilon^{\frac{N-2}{2}}}{(\epsilon^2 + |x|^2)^{\frac{N-2}{2}}},$$

where  $C_N = (N(N-2))^{\frac{N-2}{4}}$ , so that  $v_\epsilon$  satisfies

$$-\Delta v_\epsilon = v_\epsilon^{2^*-1} \quad \text{in } \mathbb{R}^N.$$

Pick a function  $\eta \in C_0^\infty(B_\rho(0))$  such that  $0 \leq \eta(x) \leq 1$  and  $\eta(x) = 1$  for all  $x \in B_{\rho/2}(0)$  ( $\rho$  as in (c)). Then set

$$u_\epsilon(x) = \eta(x)v_\epsilon(x).$$

It is easy to see that for  $\epsilon_0$ , sufficiently small, there is  $R > 0$  such that

$$I_\lambda(Ru_\epsilon) < 0, \quad \text{for all } \epsilon \in (0, \epsilon_0).$$

It means that if we put  $\gamma(t) = tRu_\epsilon$ ,  $t \in [0, 1]$ , then  $\gamma \in \Gamma$ , and hence

$$c_\lambda \leq \max_{t \in [0, 1]} I_\lambda(tu_\epsilon).$$

Thus we need to show that

$$\max_{t \in [0, R]} I_\lambda(tu_\epsilon) < \frac{S^{\frac{N}{2}}}{N\|b\|_\infty^{\frac{N-2}{2}}}.$$

First, we remark some standard estimates,

$$(5) \quad \|v_\epsilon\|^2 = S^{\frac{N}{2}} + O(\epsilon^{N-2}), \quad \|v_\epsilon\|_{2^*}^{2^*} = S^{\frac{N}{2}} + O(\epsilon^N),$$

and, for some constants  $K_1$ ,  $K_2$  and  $K_3$ ,

$$(6) \quad \|v_\epsilon\|_2^2 = \begin{cases} K_1 \epsilon^2 + O(\epsilon^{N-2}) & \text{if } N \geq 5, \\ K_2 \epsilon^2 |\ln \epsilon^2| + O(\epsilon^2) & \text{if } N = 4, \\ K_3 \epsilon + O(\epsilon^2) & \text{if } N = 3. \end{cases}$$

Moreover,

$$\begin{aligned} \int_{\Omega} |u_{\epsilon}|^{q+1} dx &\leq \int_{B_{\epsilon}} \frac{(C_N \epsilon)^{\frac{N-2}{2}(q+1)}}{\epsilon^{(N-2)(q+1)}} + \int_{B_{\rho} \setminus B_{\epsilon}} \frac{(C_N \epsilon)^{\frac{N-2}{2}(q+1)}}{|x|^{(N-2)(q+1)}} \\ &\leq C \epsilon^{\frac{(N-2)(1-q)+4}{2}} + C \epsilon^{\frac{N-2}{2}(q+1)} \int_{\epsilon}^{\rho} r^{q(2-N)+1} dr \end{aligned}$$

and so

$$\int_{\Omega} |u_{\epsilon}|^{q+1} dx \leq \begin{cases} C \epsilon^{\frac{(N-2)(1-q)+4}{2}} + C \epsilon^{\frac{N-2}{2}(q+1)}, & \text{if } q \neq \frac{2}{(N-2)} \\ C \epsilon^{\frac{(N-2)(1-q)+4}{2}} + C \epsilon^{\frac{N-2}{2}(q+1)} + C \epsilon^{\frac{N-2}{2}(q+1)} |\ln \epsilon|, & \text{if } q = \frac{2}{(N-2)}. \end{cases}$$

Thus

$$(7) \quad \int_{\Omega} |u_{\epsilon}|^{q+1} dx \leq \begin{cases} o(\epsilon^2), & \text{if } N \geq 6 \\ o(\epsilon^{\frac{N-2}{2}}), & \text{if } 3 \leq N \leq 5. \end{cases}$$

Now,

$$\int b(x) u_{\epsilon}^{2^*} = \|b\|_{\infty} \int_{B_{\rho}(0)} u_{\epsilon}^{2^*} - \int_{B_{\rho}(0)} (\|b\|_{\infty} - b(x)) u_{\epsilon}^{2^*}.$$

Using (c) and doing a change of variables, one has

$$\begin{aligned} \int_{B_{\rho}(0)} (\|b\|_{\infty} - b(x)) u_{\epsilon}^{2^*} &\leq \int_{B_{\rho}(0)} |x|^{\eta} u_{\epsilon}^{2^*} \\ &= \int_{B_{\rho/\epsilon}(0)} |\epsilon x|^{\eta} v_{\epsilon}^{2^*}(\epsilon x) + O(\epsilon^N) \\ &= \epsilon^{\eta} \int_{B_{\rho/\epsilon}(0)} \frac{|x|^{\eta} C_N^{2^*}}{(1+|x|)^N} + O(\epsilon^N) \\ &= O(\epsilon^{\eta}) + O(\epsilon^N). \end{aligned}$$

Thus

$$(8) \quad \int b(x) u_{\epsilon}^{2^*} = \|b\|_{\infty} \|u_{\epsilon}\|_{2^*}^{2^*} + O(\epsilon^{\eta}) + O(\epsilon^N).$$

Now, we divide the proof in two cases:

*Case*  $N \geq 6$ : Note that, see Appendix B, we have

$$a(x) \left[ \frac{(tu_{\epsilon} + u_{\lambda})^{q+1} - u_{\lambda}^{q+1}}{q+1} - u_{\lambda}^q(tu_{\epsilon}) \right] \geq -C(tu_{\epsilon})^{q+1}$$

and

$$b(x) \left[ \frac{(tu_{\epsilon} + u_{\lambda})^{p+1} - u_{\lambda}^{p+1}}{p+1} - u_{\lambda}^p(tu_{\epsilon}) \right] \geq b(x) \left[ \frac{(tu_{\epsilon})^{p+1}}{p+1} + u_{\lambda}^{p-1} \frac{(tu_{\epsilon})^2}{2} \right].$$

Thus

$$\begin{aligned} I_\lambda(tu_\epsilon) &\leq \frac{t^2}{2}(\|u_\epsilon\|^2 - C\|u_\epsilon\|_2^2) - \frac{t^{2^*}}{2^*} \int b(x)u_\epsilon^{2^*} + Ct^{q+1} \int u_\epsilon^{q+1} \\ &\leq \frac{1}{N} \left[ \frac{\|u_\epsilon\|^2 - C\|u_\epsilon\|_2^2}{\left(\int b(x)u_\epsilon^{2^*}\right)^{\frac{2}{2^*}}} \right]^{\frac{N}{2}} + Ct^{q+1} \int u_\epsilon^{q+1} \end{aligned}$$

Using (5)-(8), one has

$$\begin{aligned} I_\lambda(tu_\epsilon) &\leq \frac{1}{N} \left[ \frac{S^{\frac{N}{2}} - C\epsilon^2 + O(\epsilon^{N-2})}{\left(\|b\|_\infty S^{\frac{N}{2}} + O(\epsilon^\eta) + O(\epsilon^N)\right)^{\frac{2}{2^*}}} \right]^{\frac{N}{2}} + o(\epsilon^2) \\ &= \frac{1}{N} \left[ \frac{S^{\frac{N}{2}} - C\epsilon^2 + o(\epsilon^2)}{\left(\|b\|_\infty S^{\frac{N}{2}} + o(\epsilon^2)\right)^{\frac{2}{2^*}}} \right]^{\frac{N}{2}} + o(\epsilon^2) \\ &= \frac{S^{\frac{N}{2}}}{N\|b\|_\infty^{\frac{N-2}{2}}} [1 - C\epsilon^2 + o(\epsilon^2)] + o(\epsilon^2) \\ &< \frac{S^{\frac{N}{2}}}{N\|b\|_\infty^{\frac{N-2}{2}}}, \end{aligned}$$

for  $\epsilon > 0$  sufficiently small (above, we used that  $N \geq 6$  and  $\eta > 2$ ).

*Case*  $3 \leq N \leq 5$ : Using (7) and (12), in Appendix B, we get

$$I_\lambda(tu_\epsilon) \leq \frac{t^2}{2}\|u_\epsilon\|^2 - \frac{t^{2^*}}{2^*} \int b(x)u_\epsilon^{2^*} - C_0 \frac{t^p}{p} \|u_\epsilon\|_p^p + o(\epsilon^{\frac{N-2}{2}}), \quad C_0 > 0.$$

Now, noting that  $\|u_\epsilon\|_{2^*-1}^{2^*-1} = C_1 \epsilon^{\frac{N-2}{2}} + O(\epsilon^{\frac{N+2}{2}})$ ,  $C_1 > 0$ , it follows that

$$\begin{aligned} I_\lambda(tu_\epsilon) &\leq \frac{t^2}{2} S^{\frac{N}{2}} - \frac{t^{2^*}}{2^*} \|b_\infty\| S^{\frac{N}{2}} - C \frac{t^p}{p} \epsilon^{\frac{N-2}{2}} \\ &\quad + o(\epsilon^{\frac{N-2}{2}}) + O(\epsilon^{\frac{N+2}{2}}) + O(\epsilon^N) + O(\epsilon^\eta) \\ &= \frac{t^2}{2} S^{\frac{N}{2}} - \frac{t^{2^*}}{2^*} \|b_\infty\| S^{\frac{N}{2}} - C \frac{t^p}{p} \epsilon^{\frac{N-2}{2}} + o(\epsilon^{\frac{N-2}{2}}) \end{aligned}$$

where we used (5), (8) and that  $\eta > (N-2)/2$ . Calling  $t_\epsilon$  the maximum of the right-hand side for  $t \in [0, 1]$ , then  $t_\epsilon$  satisfy

$$S^{\frac{N}{2}} = t_\epsilon^{2^*-2} \|b\|_\infty S^{\frac{N}{2}} + t_\epsilon^{2^*-3} C \epsilon^{\frac{N-2}{2}} + o(\epsilon^{\frac{N-2}{2}}).$$

It follows that

$$t_\epsilon = \frac{1}{\|b\|_\infty^{\frac{N-2}{4}}} - C\epsilon^{\frac{N-2}{2}} t_\epsilon^{2^*-3} + o(\epsilon^{\frac{N-2}{2}}).$$

Thus

$$\begin{aligned} \max_{t \in [0, R]} I_\lambda(tu_\epsilon) &\leq \frac{t_\epsilon^2}{2} S^{\frac{N}{2}} - \frac{t_\epsilon^{2^*}}{2^*} \|b_\infty\| S^{\frac{N}{2}} - C t_\epsilon^{2^*-3} \epsilon^{\frac{N-2}{2}} + o(\epsilon^{\frac{N-2}{2}}) \\ &= \frac{1}{2} \frac{S^{\frac{N}{2}}}{\|b\|_\infty^{\frac{N-2}{2}}} - \frac{1}{2^*} \frac{S^{\frac{N}{2}}}{\|b\|_\infty^{\frac{N-2}{2}}} - C t_\epsilon^{2^*-3} \epsilon^{\frac{N-2}{2}} + o(\epsilon^{\frac{N-2}{2}}) \\ &= \frac{1}{N} \frac{S^{\frac{N}{2}}}{\|b\|_\infty^{\frac{N-2}{2}}} - C t_\epsilon^{2^*-3} \epsilon^{\frac{N-2}{2}} + o(\epsilon^{\frac{N-2}{2}}) \\ &< \frac{1}{N} \frac{S^{\frac{N}{2}}}{\|b\|_\infty^{\frac{N-2}{2}}}, \end{aligned}$$

for  $\epsilon$  sufficiently small. This completes the proof of Lemma 1.  $\square$

Proof of Lemma 2: Let  $w_n \in H_0^1(\Omega)$  be a sequence such that

$$I'_\lambda(w_n) \rightarrow 0 \quad \text{and} \quad I_\lambda(w_n) \rightarrow c < \frac{S^{\frac{N}{2}}}{N \|b\|_\infty^{\frac{N-2}{2}}}.$$

Notice that  $w_n$  is bounded, actually, we have

$$\frac{1}{p+1} I'_\lambda(w_n) \cdot (u_\lambda + w_n) - I_\lambda(w_n) \leq \epsilon_n \|u_\lambda + w_n\|, \quad \epsilon_n \rightarrow 0.$$

In the above expression the terms of power  $p+1$  are cancelled, then it can be rewritten as

$$\|w_n\|^2 \leq C(\|w_n\|^{q+1} + \|w_n\| + 1),$$

which yields the boundedness of  $\|w_n\|$ . Passing to a subsequence,  $w_n \rightharpoonup w_0$  in  $H_0^1(\Omega)$ ,  $w_n \rightarrow w_0$  in  $L^r(\Omega)$ ,  $1 < r < 2^*$ . Moreover,  $u_\lambda + w_0$  is a solution of  $(Q_\lambda)$  and so a critical point of  $F_\lambda$ . Thus  $w_0$  is a critical point of  $I_\lambda$ . By assumption, we have  $w_0 = 0$ . Now,

$$\frac{1}{p+1} I'_\lambda(w_n) \cdot (u_\lambda + w_n) - I_\lambda(w_n) = \frac{1}{N} \|w_n\|^2 + o(1) \rightarrow c.$$

If  $c = 0$  then  $w_n \rightarrow 0$  in  $H_0^1(\Omega)$  and the proof is finished. We claim that  $c = 0$  is the unique possibility. Assume, by contradiction, that

$c \neq 0$ . We can assume that  $\|w_n\|$  converges and since  $I'(w_n) \cdot w_n \rightarrow 0$ , we conclude that

$$\lim_{n \rightarrow \infty} \|w_n\|^2 = \lim_{n \rightarrow \infty} \int b(x)(w_n^+)^{2^*} = Nc.$$

By definition of  $S$ , we have

$$\|w_n\|^2 \geq S \left( \int |w_n|^{2^*} \right)^{\frac{2}{2^*}} \geq \frac{S}{\|b\|_{\infty}^{\frac{2}{2^*}}} \left( \int b(x)|w_n^+|^{2^*} \right)^{\frac{2}{2^*}}.$$

Passing to the limit in the above inequality, we get

$$cN \geq \frac{S}{\|b\|_{\infty}^{\frac{2}{2^*}}} (cN)^{\frac{2}{2^*}}.$$

It follows that  $c \geq \frac{S^{\frac{N}{2}}}{N\|b\|_{\infty}^{\frac{N-2}{2}}}$ , provided  $c > 0$ . This contradiction completes the proof of Lemma 2.  $\square$

## 5. APPENDIX

### 5.1. Appendix A.

This appendix has the purpose of proving that the solution  $u_\lambda$ , obtained in the first part of the proof of Theorem 1, is a local minimum of  $F_\lambda$  for  $0 < \lambda < \lambda^*$ , where  $\lambda^*$  is defined by (2).

Let us remember that

$$F_\lambda(u_\lambda) = \inf_M F_\lambda \quad \text{where } M = \{u \in H_0^1(\Omega); 0 \leq u \leq \bar{u}\}.$$

Here  $\bar{u}$  is a solution of  $(P_{\bar{\lambda}})$  for some  $\lambda < \bar{\lambda} < \lambda^*$ .

**Lemma 3.** *We have that  $u_\lambda < \bar{u}$  in  $U = \{\bar{u} > 0\} \cap \Omega_b^+$ .*

*Proof.* Let  $v = \bar{u} - u_\lambda \geq 0$  a.e. in  $\Omega$ , then

$$-\Delta v + m(x)v \geq 0, \quad \text{where } m(x) := a^- \frac{\bar{u}^q - u^q}{\bar{u} - u}.$$

Suppose, by contradiction, that  $v(x_0) = 0$  for some  $x_0 \in U$ . We can choose  $r > 0$  such that the ball  $B_r[x_0] \subset U$ . We have that  $m$  is uniformly bounded in  $B_r(x_0)$ , so by the Strong Maximum Principle we get  $v = 0$  in  $B_r(x_0)$ . It means that  $u_\lambda = \bar{u}$  in  $B_r(x_0)$ , what contradicts the equations satisfied by these functions, since  $\lambda < \bar{\lambda}$  and  $b > 0$  in  $U$ .  $\square$

Suppose, by contradiction, that  $u_\lambda$  is not a local minimum of  $F_\lambda$ . Then we can choose  $u_n \in H_0^1$  with  $\|u_n - u_\lambda\| \rightarrow 0$  and  $F_\lambda(u_n) < F_\lambda(u_\lambda)$ . Let

$$v_n = \max\{0, \min\{u_n, \bar{u}\}\}, \quad w_n = (u_n - \bar{u})^+,$$

so that  $u_n^+ = v_n + w_n$  and  $v_n \in M$ . Define the sets  $R_n = \{x \in \Omega : 0 \leq u_n(x) \leq \bar{u}\}$ ,  $S_n = \text{supp}(w_n)$  and  $T_n = \text{supp}(u_n^-)$ , and the functions

$$h(x, t) = a(x)(t^+)^q + \lambda b(x)(t^+)^p \quad \text{and} \quad H(x, t) = \int_0^t h(x, s) ds.$$

Then, we can rewrite  $F_\lambda(u_n^+)$  as

$$F_\lambda(u_n^+) = \int_{S_n} \left( \frac{|\nabla u_n|^2}{2} - H(x, u_n) \right) + \int_{R_n} \left( \frac{|\nabla v_n|^2}{2} - H(x, v_n) \right).$$

Notice that

$$\int_{S_n} \left( \frac{|\nabla u_n|^2}{2} - H(x, u_n) \right) = \int_{S_n} \left( \frac{|\nabla(\bar{u} + w_n)|^2}{2} - H(x, \bar{u} + w_n) \right),$$

and moreover

$$\int_{R_n} \left( \frac{|\nabla v_n|^2}{2} - H(x, v_n) \right) = F_\lambda(v_n) - \int_{S_n} \left( \frac{|\nabla \bar{u}|^2}{2} - H(x, \bar{u}) \right).$$

Therefore

$$\begin{aligned} F_\lambda(u_n) &= F_\lambda(u_n^+) + F_\lambda(u_n^-) \\ &= \int_{S_n} \left( \frac{(|\nabla(\bar{u} + w_n)|^2 - |\nabla \bar{u}|^2)}{2} - (H(x, \bar{u} + w_n) - H(x, \bar{u})) \right) \\ &\quad + F_\lambda(v_n) + \int_{T_n} \left( \frac{|\nabla u_n|^2}{2} - H(x, u_n) \right). \end{aligned}$$

By using that

$$\int_{\Omega} \nabla \bar{u} \nabla w_n dx \geq \int_{\Omega} h(x, \bar{u}) w_n dx,$$

we get

$$\begin{aligned} F_\lambda(u_n) &\geq F_\lambda(v_n) + \frac{1}{2} \int_{\Omega} |\nabla w_n|^2 dx + \frac{1}{2} \int_{\Omega} |\nabla u_n^-|^2 dx \\ &\quad - \int_{S_n} (H(x, \bar{u} + w_n) - H(x, \bar{u}) - h(x, \bar{u}) w_n) dx. \end{aligned}$$

We can then conclude that

$$\frac{1}{2} \|w_n\|^2 + \frac{1}{2} \|u_n^-\|^2 < \int_{S_n} (H(x, \bar{u} + w_n) - H(x, \bar{u}) - h(x, \bar{u}) w_n) dx.$$

The proof follows from the next claim.

**Claim.** We have

$$\int_{S_n} (H(x, \bar{u} + w_n) - H(x, \bar{u}) - h(x, \bar{u})w_n) dx \leq o(1)||w_n||^2.$$

Assuming the above claim, we have

$$\frac{1}{2}||u_n^-|| + \frac{1}{2}(|w_n|^2 - o(1)||w_n||^2) < 0,$$

which implies that  $w_n, u_n^- = 0$  for  $n$  large enough. It follows that  $u_n = v_n \in M$ , for  $n$  large, and so  $F_\lambda(u_n) \geq F_\lambda(u_\lambda)$ , what is a contradiction.  $\square$

*Proof of the Claim.*

First, consider the following splitting for the function  $H_n = H_{1n} + H_{2n}$ , where

$$\begin{aligned} H_{1n}(x) &= \frac{\lambda b(x)}{p+1} [(\bar{u} + w_n)^{p+1} - \bar{u}^{p+1}] - \lambda b(x) \bar{u}^p w_n, \quad \text{and} \\ H_{2n}(x) &= \frac{a(x)}{q+1} [(\bar{u} + w_n)^{q+1} - \bar{u}^{q+1}] - a(x) \bar{u}^q w_n. \end{aligned}$$

Superlinear term: Note that, there are  $s(x), \theta(x) \in (0, 1)$  such that

$$\begin{aligned} H_{1n}(x) &= \lambda b(x) [(\bar{u} + \theta w_n)^p - \bar{u}^p] w_n \\ &\leq C(\bar{u} + s\theta w_n)^{p-1} \theta w_n^2. \end{aligned}$$

Moreover,  $(\bar{u} + s\theta w_n)^{p-1} w_n^2 \leq w_n^{p+1}$  in  $B = \Omega \setminus A$ , where  $A = \{\bar{u} > 0\}$ , then

$$(9) \quad \int_{S_n \setminus A} H_{1n}(x) dx \leq C||w_n||^{p+1} \leq o(1)||w_n||^2.$$

On the other hand,  $(\bar{u} + s\theta w_n)^{p-1} w_n^2 \leq Cw_n^2 + Cw_n^{p+1}$  in  $A$ , then

$$\begin{aligned} \int_{S_n \cap A} H_{1n}(x) dx &\leq \int_{S_n \cap A \cap \Omega_b^+} H_{1n}(x) dx \\ &\leq C \int_{S_n \cap A \cap \Omega_b^+} w_n^2 dx + C||w_n||^{p+1} \\ &\leq |S_n \cap A \cap \Omega_b^+|^{\frac{2}{N}} \left( \int_{\Omega} w_n^{\frac{2N}{N-2}} dx \right)^{\frac{N-2}{N}} + C||w_n||^{p+1} \\ &\leq C|S_n \cap A \cap \Omega_b^+|^{\frac{2}{N}} ||w_n||^2 + o(1)||w_n||^2. \end{aligned}$$

Now, we claim that  $|S_n \cap A \cap \Omega_b^+| \rightarrow 0$  as  $n \rightarrow \infty$ . Actually, given  $\epsilon > 0$ , by Lemma 3, we can choose  $\delta > 0$  such that  $|A \cap \Omega_b^+ \cap \{\bar{u} \leq u_\lambda + \delta\}| < \epsilon$ .

However, we have

$$S_n \subset \{\bar{u} \leq u_\lambda + \delta\} \cup \{u_n > \bar{u} > u_\lambda + \delta\},$$

and since  $u_n \rightarrow u_\lambda$  in  $L^2$  there is  $n_0$  such that for all  $n \geq n_0$ ,

$$\begin{aligned} \epsilon \delta^2 &\geq \int_{\Omega} (u_n - u_\lambda)^2 \geq \int_{\{u_n > u_\lambda + \delta\}} (u_n - u_\lambda)^2 \\ &\geq \int_{\{u_n > u_\lambda + \delta\}} \delta^2 = \delta^2 |\{u_n > u_\lambda + \delta\}|. \end{aligned}$$

Thus  $|S_n \cap A \cap \Omega_b^+| \leq |A \cap \Omega_b^+ \cap \{\bar{u} \leq u_\lambda + \delta\}| + |\{u_n > u_\lambda + \delta\}| \leq 2\epsilon$ .

It follows that

$$\int_{S_n \cap A} H_{1,n}(x) dx \leq o(1) \|w_n\|^2.$$

Sublinear term: First, observe that  $\Omega_a^+ \subset A$  and  $B \subset \Omega \setminus \Omega_a^+$ . We have, for  $x \in A \setminus \Omega_a^+$ ,

$$H_{2n}(x) \leq a(x)[(\bar{u} + \theta w_n)^q - \bar{u}^q] w_n \leq 0.$$

Thus

$$\int_{S_n \cap (A \setminus \Omega_a^+)} H_{2n}(x) dx \leq 0 \leq o(1) \|w_n\|^2.$$

In the other hand, note that  $\overline{\Omega_a^+} \subset \text{int}(\Omega_a)$  and  $\bar{u} > 0$  in  $\text{int}(\Omega_a)$ , and so there is  $\delta > 0$  such that  $\bar{u}(x) \geq \delta$  in  $\Omega_a^+$ . Then, for  $x \in \Omega_a^+$ ,

$$\begin{aligned} H_{2n}(x) &= a(x)[(\bar{u} + \theta w_n)^q - \bar{u}^q] w_n \\ &= a(x)(\bar{u} + s\theta w_n)^{q-1} \theta w_n^2 \\ &\leq C \delta^{q-1} w_n^2 \leq C w_n^2, \end{aligned}$$

with  $\theta(x), s(x) \in (0, 1)$ . Thus

$$\int_{S_n \cap \Omega_a^+} H_{2n}(x) dx \leq C \int_{S_n \cap \Omega_a^+} w_n^2 \leq |S_n \cap \Omega_a^+|^{\frac{2}{N}} \|w_n\|^2 \leq o(1) \|w_n\|^2,$$

where the last inequality is a consequence of  $S_n \cap \Omega_a^+ \subset S_n \cap A \cap \Omega_b^+$  and  $|S_n \cap A \cap \Omega_b^+| = o(1)$ .

Now, for  $x \in B$  we have  $H_{2n}(x) = -\frac{a^-(x)}{q+1} w_n^{q+1}$  since  $B \subset \Omega_a^-$ . Thus

$$(10) \quad \int_B H_{2n}(x) dx = - \int_B \frac{a^-(x)}{q+1} w_n^{q+1} dx \leq 0.$$

The claim follows from the above estimates.  $\square$



## 5.2. Appendix B.

**Lemma 4.** (1) *There is a constant  $C(p) > 0$  such that*

$$(11) \quad \frac{(r+s)^{p+1} - r^{p+1}}{p+1} - r^p s \geq \frac{s^{p+1}}{p+1} + Cr^{p-1}s^2, \quad r, s \geq 0,$$

(2) *for  $r, s \geq 0$ , we claim that there is a constant  $C(q) > 0$  such that*

$$(12) \quad \frac{(r+s)^{q+1} - r^{q+1}}{q+1} - r^q s \leq C(q)s^{q+1}.$$

*Proof.* For (1), see [2, pag. 537]. Item (2) is left as an exercise to the reader. □

## 6. ACKNOWLEDGEMENTS

Part of this work was done while the author was working at IMECC-UNICAMP. We would like to thank the referee for helpful comments and suggestions.

## REFERENCES

- [1] S. Alama, *Semilinear elliptic equation with sublinear indefinite nonlinearities*, Adv. Diff. Equa. **4** (1999), 813-842.
- [2] A. Ambrosetti, H. Brezis & G. Cerami, *Combined effects of concave and convex nonlinearities in some elliptic problems*, J. Funct. Anal. **122** (1994), 519-543
- [3] S. Alama & M. del Pino, *Solutions of elliptic equations with indefinite nonlinearities via Morse theory and linking*. Ann. Inst. H. Poincaré **13** (1996), 95-115.
- [4] S. Alama & G. Tarantello, *On semilinear elliptic equations with indefinite nonlinearities*. Calculus Variations P.D.E. **1** (1993), 439-475.
- [5] M. Badiale & E. Nabana, *A remark on multiplicity of solutions for semilinear elliptic problems with indefinite nonlinearity*. C.R. Acad. Sci. Paris Sér. I Math. **323** (1996), 151-156.
- [6] C. Bandle, M.A. Posio & A. Tesei, *Existence and Uniqueness of Solutions of Nonlinear Neumann Problems*, Math. Zeit. **199** (1988), 257-278.
- [7] H. Brezis and L. Nirenberg, *Positive solutions of nonlinear elliptic equations involving critical Sobolev exponent*. Comm. Pure Appl. Math. **36** (1983), 437-477.
- [8] D.G. de Figueiredo, J.-P. Gossez, P. Ubilla, *Local superlinearity and sublinearity for indefinite semilinear elliptic problems*. J. Funct. Anal. **199** (2003), 452-467.
- [9] D.G. de Figueiredo, J.-P. Gossez, P. Ubilla, *Multiplicity results for a family of semilinear elliptic problems under local superlinearity and sublinearity*. J. Eur. Math. Soc. **8** (2006), 269-286.
- [10] D.G. de Figueiredo, J.-P. Gossez, P. Ubilla, *Local "superlinearity" and "sublinearity" for the  $p$ -Laplacian*. J. Funct. Anal. **257** (2009), 721-752.

- [11] M. Delgado & A. Suárez, *On the existence of dead cores for degenerate Lotka-Volterra models*, Proc. Roy. Soc. Edinburgh Sect. A. **130** (2000), 743-766.
- [12] J. García-Azorero & I. Peral, *Multiplicity of solutions for elliptic problems with critical exponent or with a nonsymmetric term*. Trans. Amer. Math. Soc. **323** (1991), 877-895.
- [13] J. García-Azorero & I. Peral, *Some results about the existence of a second positive solution in a quasilinear critical problem*. Indiana Univ. Math. J. **43** (1994), 941-957.
- [14] N. Ghoussoub, *Duality and perturbation methods in critical point theory*, Cambridge Univ. Press, Cambridge (1993).
- [15] N. Ghoussoub & D. Preiss, *A general mountain pass principle for locating and classifying critical points*. A.I.H.P. Analyse non linéaire **6** (1989), 321-330.
- [16] S.J. Li, S.P. Wu & H.S. Zhou, *Solutions to Semilinear Elliptic Problems with Combined Nonlinearities*. J. Diff. Equ. **185** (2002), 200-224.
- [17] V. Moroz, *On the Morse critical groups for indefinite sublinear elliptic problems*. Nonlinear Anal. **52** (2003), 1441-1453.
- [18] de Paiva, Francisco Odair, *Multiple positive solutions for quasilinear problems with indefinite sublinear nonlinearity*. Nonlinear Anal. **1** (2009), 1108-1115.
- [19] de Paiva, Francisco Odair, *Nonnegative solutions for indefinite sublinear elliptic problems*. To appear in Communications in Contemporary Mathematics.
- [20] M. Ramos, S. Terracini & C. Troestler, *Superlinear indefinite elliptic problems and Pohoaev type identities*. J. Funct. Anal. **159** (1998), 596-628.
- [21] M. Struwe, *Variational Methods, Applications to Nonlinear PDE and Hamiltonian Systems*, Springer-Verlag, Berlin, 1996.

UNIVERSIDADE FEDERAL DE SÃO CARLOS, DEP. DE MATEMÁTICA,  
13565-905, SÃO CARLOS - SP, BRAZIL  
*E-mail address:* odair@dm.ufscar.br